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What is the name of Biodegradable Sanitarv Pads launched bv Union

Govermnment on the eve of Intermational Women's Day, 20187

FTWTS T Afger fad, 2018 & TN W ARG TEN & AN § g by
T/ Iega 5y Y Sifas Sl 8 &1 AW . 27

Suvidha/ ij_ ES,
Aarambh/ 3T
TJanaushadhi/ F=Taf

Swachh/ =7

Which of the following heads the expert committee constituted recently by
Reserve Bank of India(RBI) to review bank frauds is

4T 2 A Ao od i (ardRTE) o7 aR 9 56 F gkt 37 9"
% fog 31d E favhw Wl @ wm o &2

A K Mishra /T35

Tasbir Singh / R RiE
Y H Malegam / 91509 AT T

P Vijaya Bhaskar / 1. faomar 9=

Y H Malegam / a15.09 AT T

The most commonly used chemical for ripening of mangoes is

AF B TPH $ foU SUEET ¥ o|T A el 99 Sdiend TdE A AT
ELd

potassium iodide/ T=ERA 341'&'1@13@1
ethylene gas /=G H 19

calcium carbide / S50 THEES
Chlorodane /| il

calcium carbide / Hfesaa FEEs
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If 20% October of a particular vear falls on the day preceding Sunday, which
dav would be last dav of the month?

R el of 20 sER o1 fRaw Fear 9 w=d 59 s & O 99 W
# 3ifem 27 =7 a) = e

Thursday / TT=a®
Wednesday / =G

Tuesday / #TeaN
Friday / IpRa™

Wednesday / g9

In this question is given a statement followed by two courses of action [ and II.
You have to assume the information given in the statement to be true and

decide which of the suggested course of action logically follow(s) for pursuing.

Statement: Increasing levels of pollution is becoming a health hazard for
people living in metropolitan cities.

Action I: All industries should be shifted to the outskirts of cities.

Action II: People should be encouraged to use public transport.

Mark vour answer as

SH YA F UHh A f3ar o @1 2 o HWed # fdhar 1 e fhar 2 9
T 2| YS! 36 HUT BT Ela: Fed A= & 3N g2 Fivfg o E R e
foer o < WEE TE FI G R e wY W WA § o ST =R
T : YEEUT T a1 WX ASTIRE W # I 9 anl & w@ed o
fore Sifes sar = =T 2

ST 1 - | ST B =N B 9l B # WIETNG S faar W
=T

f2FaT 2 - AT T A 9asT B TE B $ AT weansd e
T =Ry

T TR F T H 79 |

If only II follows / 3FT¥ Sadd 2 714 2 |

Ifonly I follow / 3T Thad 1 910 2 |

Ifboth T and II follow / 3R Hasl 2 774 2|
Ifneither Inor II follow/ 3N 1 &N 2 § | &3 wI a4 721 2 ||

Ifboth I and II follow/ 3Y $ael 2 979 2|

Latais facing north and walks 10 kilometers. She tums 270 degrees
anticlockwise and walks 20 kilometers. She then turns 45 degrees clockwise
and walks another 20 kilometers. Which direction is she facing now?

AT TR BT AR A2 Ty 2 3 10 e 9% Fen 21 98 R 270
ot =<1 @ fawim foen & g7 ol 2 3R 20 o @ 9ol 21 R
2 45 fouft o<1 &Y WY e & gt 2 @R i 20 ey a9 el 21
g 9T qe w femm d 27

North-east /| FeR—138
South-west / SBT3
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South-east / SET—T8
North-west/ Soi—d1%=H

South-east / ET@F”T—TQ’

Identifv the incorrect pair of political party and its founderleader:

== 4 9 woHifos el &R S9e FwIE S99 B Tod diel @B BT

Independent Labour Party — Dr. Bhim Rao Ambedker / gfsUsc o T=1 —
1 HH G AREHT

Congress Socialist Party — Acharya Narendra Dev / S10d HiZlee Tel —
ST T =

Praja Socialist Party — N.G. Ranga / Yol |Elelee UIE] — U, Wl @

Jan Sangh — Shyama Prasad Mukharjee / W9 — TOTAT M= 4]

Praja Socialist Party — N.G. Ranga / 997 HEleee 981 — . Wl 917

Which of the following noted Indian disabilitv rights activist passed away in
March, 20187

T O o4 9 fawmm Ram afent © fw atrg wdm s
A1E,2018 F TOR TP

Malini Chib/ Flet=1 =g
Taved Abidi/ dg 3R,
Malvika Iver/ AT ST A

Satendra Singh/ og 148

Javed Abidi/ S8 R

The most potent greenhouse gas amongst the following is

4 | F9d yEEenT e i S | 20

Ozone! AT
Water Vapour/ aicf 99

Carbon Dioxide/ FETSEAFIES
Methane/ AR

Water Vapour/ Siel 919

The first Indian wrestler to win gold in the Senior Asian Championship is

T ST WA UEa o7 T ga950 ferad i R Sigatn |
0T ST 27
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Sakshi Malik / =1 Aferh
Navjot Kaur / Jdaiid $IY
Babita Kumari / Farl HANI
Vinesh Phogat / 3931 GRS

Navjot Kaur / Taaiid B

Which amongst the following has been named as the only completely “green’

metro system in the world?

FH © THAE Ot fagg # e TR A e A T 27

New York Citv/ :?J;ﬂ'lzﬁ el
Toronto/2NET

Dol Tet

London/ o8+

Mendel noted as many pairs of contrasting traits in pea plants

d8d 7 FeX @ Ul F e s fawe fama 9t g

Lh M\

=]

Which polynomial represent the product of the (4p) and (g+1)?
=1 4 9 B W 9298 (4p) SR (gh) F G B Swar 29

4pg+r
g+dpr
Apg+dpr

4pgr

Which of the tollowing state was declared as the first "Open defecation-free
State’ in North-East India?

So—qd WA A Fe=foiad w=at A 9 59 wwar =g | wie g9 I
Hiftg far war 272
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Manipur / AT
Nagaland / ATTTelS
Arunachal Pradesh/ 3/=0=el =31

Lavani -a combination of traditional song and dance is most populatly
performed bv female performers of which of the following Indian state?
& — GRONE T R T H S0 909 9Ng © T I @ A
FHABN BN SR fHar o 27

Telangana / Tl Tl
Orissa /[ 31TTS9T
Maharashtra / FE %
Gujarat / T[T

Maharashtra / H2T

Ethane, with the molecular formula C2H§ has
i, forasT anftes ¥ C2H6 2| 99+ & —

8 covalent bonds / 8 HEAG A <o
9 covalent bonds / 9 HEAGHE <&
7 covalent bonds/ 7 HEHd o 99
6 covalent bonds/ 6 TERATH T2

7 covalent bonds/ 7 TERd e 520

“World Mental Health Dav™is celebrated every vear on

“fozg FAfe wreg fGow vfa of o9 94T o@r 27

1 December /1 Tad =N
7 April /7 3l

10 October /10 3T
31 January /31 W

10 October /10 3Fa<gY
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UNd TR S S Ufgy oI SO SENG Udd 9 BT Ge1 9o gy |

T9 TAN 2% WA BT dfgat § Teer 237 o 79 TN 39 W I B arel e

Tl IR AH ARG ] TAH HY e & GOR A [H9] PR D W@ Feeid Tl
T of | 98 TG UET o1, W9 ARG A $Y S AN 9EhaT W e o 21 2 ol 98
TET W T A, T DTS ] B G S Q@ 2d S A B AlsT o Fhe o)
T T A v S-S R ¥ g9 g e f | g A et o 9
S ferar S 97| 99 WE-RIE W -8 UM § U6 8 ol off | awge: gel 96 |
FT T §F YHN BT K AdT FeT ol o7 o9 Jafs {e A BT ey F9R
|e T2 o, s g faee ® ey 99 Yo & & der @ 9w = e
o1 Ho & & gER | T Jor o1 W o w1 < wE) w wedl 2 U H gy
T AN I o, fFEE oM o SR wd-ae F S W a9t o At off o of @
gt F7 wa-—famy o o 9% 9%ad | UYL Ao g oT| 39 o7 faehia v e
24 SN 4l ¥ S9d 2

THAN TI T S B A (9=l el SN IEe ANG § @ gl ©
TR F By 7T e o o9 -

THNI 531 ATaE o
AN o% @I o
AN =% WEHAl B 9891 § wdsl o3 o1

AN <91 g@erd o

BANT =97 WEFGT D1 Shgal 5 webgl g of
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24 SN 4l ¥ S9d 2

THAN TI T S B A (9=l el SN IEe ANG § @ gl ©
TR F By 7T e o o9 -

T[T HN IEE ARG DT GEH EHY Aol @ qUN A [l TbR B Wi gasd T2l
F o | 98 g U o, 99 ARG A THY BT AR 9haT /WE e | 21 g ol 98
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o forar S o7 | 99 - W Ble-9E UMl § U6 o ol off | o ghl g |
FT AT T PN BT F Foll HET AT 97| 79 FARS g AF $7 =wd g9
| T2 o, s g fawe © ey 99 Yo & & der @ 9w = e
o7| 95 €1 13 9BR | Y Aar off O gNfIE o <= Sd) W wadr 2| 0o H g
| AR e O, e e of i Wiy § Wiy wae 9o ey afed o e o aen
TR 1 HA-0Hy T o | 98 aad | Y] del ghar o7| 391 & fAehd w9 e
29 oY de == 2|

IR F Y 99 Hell S [ w9 8

W #dl

S Hell
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96 ¥ a1 a0l 95l w4 9 8 9
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| T2 o, s g fawe © ey 99 Yo & & der @ 9w = e
o7| 95 €1 13 9BR | Y Aar off O gNfIE o <= Sd) W wadr 2| 0o H g
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| s A Ff F1 AN uhhar R W A

S A S g gl A1

X ol AR Joll BT Al 9 2l A1
HIAT g BT Al
AT g 2h &l

QU Zell N oAl B wirel | 2l 40

When a dice is thrown, the outcomes of an event of getting a prime number is:
T UH OTET SOTAT W 2, °f U Ied 36 I BT 9T THIeT e 2
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Silicon Valley is located in

RifereT deft Rer 2 —

New York / =g f‘SIUEﬁ'

California / SolHBI=AT

Mumbai / g3
Bengalum / & ERd

California / SalTHI-AT

Complete the given series by finding the missing term?

1.4,27, 16,125, 7, 343

14,27, 16, 125, 7, 343|

64
36
48
32

Who topped the Forbes World's Billionaire 20187
Bled @1 fivg & Fad ¥R 2018 BT G F HaluRk HiT 27

Bill Gates/ faemiesn

Warren Buffet/ a9 9%

Mark Zuckerberg / ATH Wb
Jeff Bezos / It swild

TeffBezos/ OF dard

Arjun is twice as old as Shriva. Five years ago, his age was three times
Shriva’s age Present ages of Arjun and Shriva are:

i Brar @ SR S97 2| o 9 ued, s = 99 frar @ o
woTET o) Ao o Brar w1 a9ae e e &
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Who is the author of the famous book “Ignited Minds™?

FIEREE TEST AW IS e © o@d B 27

Khuswant Singh /ZJZEd iz
A P J Abdul Kalam / TUTS e Had

Mark Tully / ARSI

Shashi Tharoor / TT3T 164

A P.J AbdulKalam / TUTS. F=d o

Who amongst the following became the first Indian architect to win the
Pritzker Prize which is considered as the architecture’s “Nobel® equivalent?
T 9§ B TE ARG ARgeR 2 O 9N $ 8E ¥ e & wEes
9 T arel fewey R i mar 27

Prof. Charanjit § Shah / 1. @HUTald TH M2
Nilanjan Bhowal / fefe |iam

Balakrishna Doshi / STelE®T =M1

"PRS Sivakumar / R T RagAR

Balakrishna Doshi / FTe®T &M

I Which would be the product of (-(-3))*(-4)7
(«(-3))%(-4)? T IROME FT 2T

(12
-12
12
12y

Which ofthe following statesis also known as “The Land of Dawn Lit

Mountains'?
Frfofiaa w=af § § o9 § a9 F1 99 Fediod qdal B 9 | HaT
ST 22
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Nagaland / NTTelS
Manipur / ﬂﬁl’i’\f

Arunachal Pradesh/ 3/u=d W
Mizoram / EaiE

Armachal Pradesh/ 30Tgd We9

In a competitive examination, a candidate gets > marks for every correct
answer and loses 1 mark for everv wrong answer. If a candidate attempts 50
questions and secures 130 marks, what is the number of questions he answered
correctly?

TE R R & ol @ o W SN @ 9 5 3 e 2 el
TE Tad o) & o0 1 3F =T 9907 2| SFR Hig Fadnil 50 T @
TR =T 2 &R 99 130 &% e 2, O 9e e we 37 9E oo
2, g% ToETy

PSR o8]
[
Ln -1

How many times are the hands of a clock at right angles in 24 hours?

24 el ¥ ol aR =1 BT Hgar T FAe E°

The essential difference between an AC generator and a DC generator is that

AC generator has an electromagnet while a DC generator has permanent
magnet /THT SN ¥ e ges 2 wefe S de o wmf! 9w 2
AC generator will generate a higher voltage /THT W-Ned 9= diecd ¥od™

HT

AC generator has slip rings while the DC generator has a commutator /TH1
Hex 7 e e 2 wefs Snft oiiee F e 2

DC generator will generate a higher voltage / S/ wi-Ne? 9ed dlced God .
ﬂi ‘I

AC generator has slip rings while the DC generator has a commutator /TH1
e § g g 2 wels SRl oiiet § wegeeY @
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What is the square root of 647
64 T T FAT EATIY

|

e
b
=5

In this question, a statement is given followed by two arguments [ and II. You

have to decide which of the arguments is a strong argument?

Statement: Should smoking be banned in public places?

Argument I- Yes, this is the most important wav to reduce pollution in the city.
Argument II: No, it alone would not help to improve the qualitv of
environment.

Give answer as

39 95T | e wue o mar 2 o = 99 1 giiv 2 few w2 auet
TE T HT 2 [P DI T a5 Aogg 9 27

T - T JIUF H AaiE @ B o ghEia o =y
TP 1: 21 T A ySHY geH @ v g% 9gq Agwaqyl adier 2

Tk 2 2], §9 THAE b | ame] $1 OERT d {ER 2F 9 A2
T SO FE ° T

Ifneither Inor ITis strong / 3N o 1 AN 2, aF Fogg A21 2 |

If both arguments I and II are strong / 2FTY ST o 1 20¢ 2 HaAdd 2|
If only argument IIis strong / 37TY W.ﬂ?ﬁ‘ 2 HEFSET Gl -

If only argument Iis strong / 7Y ®adl d& 1 A ZI

If only argument I is strong / 37T¥ Had o 1 HAaAqd 21

In this question, a problem is asked followed by two statements I and II in
which certain data are given. You have to decide if the data given in the
statements are sufficient to answer the problem.

Problem: What is Shekhar’s rank in the class?

Statement I: There are 40 students in the class.

Statement II: There are 12 students who scored more than Shekhar in the class.
Mark vour response as

39 U {4, UF 99T 9T Sooid @ fude TR @ weF fir e 2 e
HE WESN €1 TE 2| aus iy seEr 2 B g Fuel § €1 7w
forT v § TH@T &7 99EE w9 & forg A 27

T IER BT FET A B W 3P 2

g 1 FET A 40 B 2|

™ 2 FETH 12 9F U9 2 e afF T | afe 2

YT gfafpar g9 Wed § g o a8 g

If both statements together are required / 34 =] 024l @ =BG
Suaifir |
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If both statements I and IT are not sufficient to answer the question / 377 g1

WA 1 TAT 2 T T B SR oA B o gafe 7L F |

If data in statement I1 alone is sufficient / 37Y T 2 § €1 TE TGN IHd
A g 2

If datain statement I alone is sufficient/ 37 =T 1 | &1 Mg WHNT FHo
# oo 2

Ifboth statements together are required / 37X =1 o=l P HAd
ST 21

If 88 - 40=4:53-26=1: 87 -32 =3: what is the value of 78 -21 =7

Y88 -40=4;53-26=1,87-32=32. 90 & 78 21= T 17|

Who amongst the following has become the first Indian women from the field
of Law and justice to be conferred the "Nari Shakti Puruskar™?

Fefolaa § ¥ = R g @ &7 9 AR vl e @ o saia
TR A AR i 27

Sujata Manohar / ¥=TdT HEY
Gita Mittal / e Tt
Rekha Mishra / @ 8517
Fathima Beevi / HTicHT a5d]

Gita Mittal / Tm ot

Which of the following is not an example of a bio-mass energy source?

I o BT W Fe—5uT BT Sell =g 87 27

gobar-gas / =19

nuclear energy / AH&HE Hall
| Wood / Ths]

| Coal / Fgell

nuclear energy / ATHEH A

“World Braille Day™ is annually celebrated on
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8 September /8 Ta=T
4 Tanuary /4 FTa8

8 March /8 A4

31 October /31 HTa

4 Tanuary /4 e

Which number is not a perfect cube?

F T 3F T T 27

If Light: Candle, then

T Light: Candle, 99

Exercise: Strength/ Exercise: Strength

DPower: Batterv/ Power: Battery
Dieting: Owerweight / Dieting: Overweight

Automobile: Engine / Automobile: Engine

Power: Battery / Power: Battery

India’s first dedicated helicopter taxi (heli-taxi) service has been launched in

ANT ST Ul 2fedrex SwfT (R |ar uw =1 1 27

Kolkata / &leldhld
Chennai / =13
Bengaluru W

Kochi /

The programme of economic reforms in India was started on:

HNG § ATfeh N DT HAHH B HNH g3
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1 Tanuary 1991/ 1 S=a4] 1991

24 Aprl 1991/ 24 ardd 1991
1 July 1991 /1 a8 1991

24 July 1991/ 24 Sfellg 1991

The 19% century great social reformer Ishwar Chandra Vidvasagar waged a
struggle against which of the following social causes?

1991 W21 & 7 99 NG 3991 de OuErH A 79 9 59 9etae

Abolition of Sati / el T HT I
Education of women / ATZa SETT
Untouchability / ¥ =gdr

Widow remarriage / forrar gafdarg

Widow remarriage / a7 qafdarg

Which of the following coined the term “Geography™?
59 W e g e SIS T e

Blache / =i

Aristotle / 3]
Eratosthenes /TG ol

Humboldt /! ¥4l

Eratosthenes /TE@NR= i

The condition when the earth is closest to the sun is known as:

7% o o odl 4o & waw e #id1 2, wEem 2 -

Apogee/ "ﬂ:‘\:[—ﬁ
Apehelion / 9574
Perigee / ﬁ—ﬂ"ﬂfﬁﬁ
Perihelion /| & THHD

Perihelion / ??J’ BLIEED

Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief
and social work?

4 W = 1896 H Hadn HI VA =4 AN FE W1 $ o I
FEe F7 =A F7P
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Sti Sarada Devi / 3T ZINaT <47
Ramakrishna Paramhansa / ¥HRTT TEgH

Swami Dayananda Saraswati / @M g8 ]

Swami Vivekananda / W1 9ad—=

Swami Vivekananda / M| [add=

The Gupta temple which is not situated in Madhwva Pradesh:
T W HH W TE HieT Bl Aoy 2 A 7y g F Reyg A9 2

None of the above /| TOHET & W Eh—l?; +T 2T

Shiv Temple of Bhumara / AT &I 1319 A&y
Vishnu Temple of Tigawa / f&7Tar @7 {99 Afex

Dashavatara Temple of Deogarh / a7 @] GIMad® A1t

Dashavatara Temple of Deogarh / Sa7¢ &1 S3ad Ay

Which of the following is India’s first Union Temitory to run completelv on
solar power?

FefeiEaT & $9 W NG BT gl Seuldg YS9 2 W QUi 9 Sl
o AR 27

Puducherry ﬁfl
Lakshadweep/ TEE T
Diu/ 1
Chandigarh / Fsg

Which of the following countrv has declared to impose a ‘carbon tax’ from
2019 tc reduce greenhouse gas emission?

9 ¥ fhg 291 9 2019 ¥ THEeT 719 Scdod § S D ol B S
I BT Gigom B 2?2

Ireland / ITATIS
Malaysia / Tl
Singapore / WTI'T{
Sweden/ T

Singapere / 47 BE

How many cubes of 3 cm edge can be cut out of a cube of 18 cm edge?

TS OAT BN & TaN ohs 4 3 OAT B & 16T TaN ohs He e
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216

Which of the following organization is responsible to regulate and monitor
services given to persons with disability, to standardize svllabi, and to maintain
a Central Rehabilitation Register of all qualified professionals and personnel
working in the field of Rehabilitation and Special Education?

fofaa & fra wor w® fF@nt & & wH 9l daRt $ e i
e @ &7 § T T 9 W Ay s sk Fhat & g Haw
oy TR T P ey 27

Action for Ability Development and Inclusion (AADI) Ta=H X Tldee
SIATE TS e (USRS

National Centre for Promotion of Emplovment for Disabled People
(NCPEDP) <¥Hd el BN WHITH 3AT6 TemHe BN fedides diqd
(TS

Rehabilitation Council of India (RCTY 9RGE 49 TREs (IERE)
Association of People with Disability (APD India)/ TAINGEH A% UG a5
fewefaferdt (vireT gfean)

Rehabilitation Council of India (RCI) ARG Ty 9998 (3TRGR1TS)

Which one of these numbers is not divisible by 37

¥ ¥ B9 @ A9 3§ frron T 29

616
294

10 mL of a solution of NaOH is found to be completely neutralised bv 8 mL of
a given solution of HCI. If we take 20 mL of the same solution of NaOH, the
amount HC1 solution (the same solution as before) required to neutralise it will

be
10 FE NaOH & T =i &1 HCI &7 8 Mol oie ol ovg | fepmdr ax

3T 2| 9T §9 NaOH & it 7 =1 20 el #mm & o 5t ®9 HCI
T Hid B e A 3 A =0 8 o gaiw @

8 ml /8 Al
16 mL /16 &
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AmlL /4 THe
12mL /M2 &ar

16 mL /16 T

Which pair represent the like terms?
FH A SIS UF T Ae g2t 27

4xy, -13yx?
4x, -13v?
4x, -13v

4x, -13v*x

Who is the author of the famous book “The Guide™?
TR W% S MES % o@s H T TaEer

Vikram Seth / 959 do
R. K. Naravan / 5 ARHT

Ruskin Bond / I&pA dls
Munshi Prem Chand / ‘f%‘ﬂ Uqdg

R. K. Narayan / 3&H AREGT

Which of the following constitute a food-chain?
T | B WE-sEa $= e 27

Grass, wheat and mango /HTH, TE\GH‘T—\T A

Goat, cow and elephant / TP, T A 2
Grass, fish and goat/ BT, oA T TP
Grass, goat and human / =TH, gHh] A 11

Grass, goat and human / BTH, TRl S "1

" While cooking, if the bottom of the vessel is getting blackened from outside, it -
means that

I Ul WG, S 9o @1 47 9189 | Freil g1 AT 2 df g aef &

the food is not cocked completely / i ‘{\ﬁ e 9 T2 g 2

the fuel is burning completely / g2 ﬂ;\ﬁ TE | oid @l 8

the fuel is wet / 39 T7e &

the fuel is not bumning completely / 359 q;\?f e | 21 Wil &l
www.FirstRanker.com
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the fuel is not burning completely / $87 ﬂ;\ﬁ N2 W 2l Wl Y@l

Which of the following is India’s official entrv for Best Foreign Language
Film in Oscar 20187

4 | B Hl e Ay 2018 F wadw faSull 99 &7 fres sl 3§
ARG BT G Tefa & w9 F ol 77

Hindi Medium / T2==1 #itgad
Dangal / =<

Bahubali 2/ 9 gaé 2
Newton/ ~Hc

Newton/ =qc

‘Recall the face of the poorest and weakest man (woman) whom vou may have
seen, and ask vourself, if the step vou contemplate is going to be of anv use to
him (her).” Who is the author of the above quote?

Iy = F Hed TWE SR FHOR G $ TEd ol w5 amed S
g 3R W @yl 5 W ®eF A Ser W & 8 96w 99 e (gey
T i) B T 9 2 O BT 2| ST B B bEd 9l & aF
EIEN|

Lal Bahadur Shastri / @Tel F2T5d I1
Sardar Vallabhbhai Patel / iGN doo9E dod

AP I Abdul Kalam / THIS. Hgd o™
"Mzhatma Gandhi / 8T TH

In which of the following river, ‘Majuli river island’ is situated?

ffafiaa 9 feg 71 9 Argelt 727 SwEw e 27

Chamba / =<
Jhelum /
Brahmaputra / 951H

Brahmaputra / F81qA

At a children’s partv, there were 78 handshakes. If each child shook hand only
once with all other children, how manv children were present at the partv?

aﬁrrzﬁ‘[qatrﬁ"‘in ?ammﬁWW|mmm?mw
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On the occasion of Intemational Women's day 2018, Ministry of Micro,
Medium and Small Enterprises (MSME) launched a portal for women

entrepreneurs. What is the name of the portal?

IFOWEE Aol G99 2018 & oW W, WH, 799 IR BIE T
(Troes) #ared A Afer Safal & fou uE dide ) e #1| 39
Gidel @r A T 27

E-Samvad / —vdre
NARI App/ 91T U9
Shakthi App/ Taa od
Udyam Sakhi / 92F T&1

Udyam Sakhi / 92F T&1

According to census 2011, the m?le literacy rate of Indiais:
2011 S IOET & HTEN, 990 8 09 RN 59 2

77.1%

82.14%
75.3%
88.8%

Pointing to an old woman, Raman said: “Her son is mv son’s uncle’. How is
Raman related to the old woman?

T 9F ARem T AR FHd T g EH T T TH @ N G H
FA 2| T B IF Aee § T GaT T 29

Son / <7
Mother / AT
Brother / 918

Grandson / T
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Rohit was three times as old as his sister Komal six vears ago. Now he is twice
as old as Komal. What is the present age of Komal?

AT BT Jrg, FE FET PEAA B HY, A 6 99 gFl 3 W 7| HT W
FEA T I 9T 2| ST BEA BT T A 3

8 vears /8§ 99

16 vears /16 8
G years /6dY
12 years / 12 99

12 years / 12 99

Fe203 + 2Al — AI203 + 2Fe

The above reaction is an example ofa
Fe2O3 + 2A1 — AlI203 + 2Fe

ST gfafhar Fefefad @1 e 2

displacement reaction / fa®@IT= ‘Jﬁﬁ'a_&'ﬂ
decomposition reaction / 3THeT gfafha

double displacement reaction / SE G Fleiispdr
combination reaction / Fg AT wlafar

displacement reaction / Ta®@ITaT ‘Jﬁ'@ﬂ_ﬂ'ﬂ

[ Which of the following won the “Best Film Award™ in Oscar 20187
I 2018 F Fefofag € 9 fee “wdis vy e oe?

The Shape of Water/ & 0 JFH d[<T
Lady Bird / ol 9%

i Darkest Hour /| ST 3laX

The Post/ = i<

The Shape of Water / 3 19 1% 9T
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In this question, a statement is given followed by two assumptions I and II.
You have to consider the statement and following assumptions and decide

which of the assumption is implicit in the statement?

Statement: In Delhi, metro is indispensable for people to reach their places of
work in time.

Assumption I: Metro is the only mode of transport available in Delhi.
Assumption 2: Only metro runs punctually.

Mark vour answer as

9 999 | tH F2A fZmr Ty 2 faee ueEe S - 1 @ 2 sEe @
M7 # | AUST FUT BT UG 2 99 W ARG IFAAT B = 2 3R T8
a9 e 2 5 59 9 BiE o, U 9 21 saHea 27

T : Rl 4, @ & 999 79 & WM W F | TgaH & fog Ag)
FuleEr 2|

FFE 1 - AT & Rl # wRegT 77 e S 9EE 2

IFFH 2 : Fad dg 999 W Fol 2|

s e 4 |

If only assumption I is implicit / 3T ST 1 39 a2 |
Ifneither Inor Il is implicit / 37X &AM 1 #X 2, SF1 21 Scad 727 2 ||

Ifboth assumptions I and IT are implicit / 3 SH] A 1 3t 2 wafHEa
2l

If only assumption ITis implicit / 3T 3A 2 39 2w 21

If only assumption ITis implicit / 3TN 3A 2 39 | 21

Ifthe area of a square is the same as the area of a circle, then the ratio of their
perimeters, in terms of m, is:

afe T T BT 9% U6 90 © 6900 3 TIH 2, @ 1 F ©9 |, 9%
aRATT & s Eh |

b
=

b
2
=

8
s
S

N3

Read the following statements carefully.

i) All good sportspersons want to be victorious.
ii) All sportspersons who want to be victorious practice regularly.
iii) Some who practice regularly are women.

Based on these statements, which of the following is correct conclusion?
e for 77 At B SATYES WG

1) Tt B Raere! ST =ed 2

2) w1 Raars! ot Wfia 9= 2 9 Hafa s & 2

3) St Frafia s & & @ afRen 3,

1 A 3 R W Fefatsg F 9 29 9 v = 27
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All sportsperson who do not practice are not victorious / @91 Rgalls] Al
FRT 21 B d S 921 2

All women want to be victorious /| THT A2l Fig-T =2l 2 |

All good sportspersons who practice are women. / 3% 94 el T4T

Reren<t afgemd 2|
Some women are good sportspersons /| F H 200 2% Hgollel 2ial & |

Some women are good sportspersons /| F H 2all 3 Radre] 2l 2 |

Pandavani- the traditional folk singing/music/dance/theatre is popular in which
of the following Indian state?

USaH! — 98 URURE @i T/ §ia/ T/ Ted 9NG & e o= |
st 27

B]..hEI / aé i’
Tharkhand FNES

Chhattisgarh / BTIFTE
Orissa / 18T

Chhattisgarh / BTIFTE

How manv numbers are in between 200 and 300 that begin or end with 27

200 ¥ 300 & ¥ o F W 2 W 2 W o A1 Y ¥ 2 2

120

Which two companies agreed to create India’s largest mobile phone operator
bv subscribers and revenue market share?

7T = F=fal 3 ST N 9N | ATRfE Ted @ &9 8 9NG @1
Tad 9T qEEd B A0S 999 & forg wesian far 27

Airtel and Aircel ToNed N TOTH
Airtel and Reliance JioTa¥ed Y Ramad foa
Vodaphone India & Idea Cellular/ S/SI®E $ied] SN ATgiSd] Woge

Reliance Jio and Vodaphene India’ NaTad TaT el 9ewH sied

Vodaphone India & Idea Cellular/ S/SI® 3169l #N ATSMSd] Hoge
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T TAF 96 @1 2 faemea,
g o9 o9 favd A afard 2|
AN = w2 ous fom
a1 a1 oRaw = = 2
q T dS, | wSd, I U,
el frega T i = 9

TRawd &1 39 2.

| & ¥ g I
=

T TP 96 @1 & faemiea,
g 79 o9 favd A afard 2|
R T sfEe 2 99e o
R~ a1 oRaw g = 2|
T =T osdr, 7 ofsdl, AT TE,
wedl e R 1 = 9

qg o4 aF a9l 27

e dd e 2

g Od AN | =Rt g
T4 ¥ o8 72T
e d9 o —ollerd 2

S ot aifard 2 9vw fom,
Ra=1 a1 oRaw 2 =of 21
q 2T ofedr, 7 ofedl, #6T g,
el e e o e 9

Ceilnirs = rani= oo e il e
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W T0F 96 @ & faemea,
g o9 a5 fazg A afyed 2
3R 1 sifEd 2 S99 fo,
a1 a1 uRaw g1 @ef 2
T TET ofgd, 7 ogdl, A TE,
wedl fregg et +f == 9

| Te@Y Mo o= W ol T8 9 di9adl A qoad Bl e 99 #0187

TE & HETa w1 g

g AN I DT T T =N HE
¥ 9§ g T

HeMNd AT I LA HEAT

TE AR W FT T W™ =R F

WE 7% 96 W@ & [,
Iz 79 9% fagg A afeEd 2
SN W a2 9He Ty,
a1 a1 uRaw g1 @ef 2
T TET o, 7 oS, A TE,
wedl fregg et +f == 9

TE B AR = T
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Which one of the following has been declared as India’s First World Heritage
City?

T4 9 59 9T 7 U9 9o ofted TRl T g9 fear AT 27

Delhi / fEeell

Mumbai | q=5

Jaipur / ST
Ahmedabad / EASEIE

Ahmedabad / HEHSMEE

Given below are three numbers A, B and C, in their respective expanded
forms. What will be the sum of A, B and C?

A=1x101+6x 102

B=2x102+3x10°+1x 10!

C=1x10"4x% 102

I ©F F9 A, B 3t ¢ © Hefta fawa wu waer Ry mwd A BaR C
T AT T EAI?

A=1x101+6x 102

B=2x102+3x10°+1 x 10!

C=1x10%+4x 102

| 6.723
0.491
13.62
14.22

No matter how far vou stand from a mirrer, vour image appears erect. The

mirror is likely to be
=2 a9 FEA o et 53 A ws 2 et ofa e e 2 e
HHaT: 2

wH ()

Convex / ®ddd (GTd)

Concave / F-1dhg (31aad)

either plane G o) S I (T AT Sewied)|

either plane or convex / W= IT HAdHT (FaT AT \imd)|
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In this question, a set of given statements is followed by a set of conclusions.
You have to decide which of the conclusion logically follows on the basis of

information given in the statements.

Statements: All snakes are ropes. Some ropes are sticks. All sticks are trees.

Conclusions:
I Some trees are snakes
II. Some sticks are snakes
I1I. Some trees are ropes.

Mark vour answer as
9 U |, TP T TN 2 oY os 9 ey Ry T F et a7
fvfg o 2 6 B9 9 O Frepy € & Sl F €1 TS SHeNT © 3ER
W Alfes w9 | W& E
TR - T4 A IRar 2| 9o e oisar €| w1 ofsar @& 2
e

1 oB T 919 2|

2 T ofsgl |9m |

3 TP o W E
I TR B T W e 7Y

| Ifboth conclusions I and IT follow / 37X f&p 1 X 2 T€& 2|
If all conclusions I II, and ITI follow / 377X T4 [T%hY 12 X 3 Wel® 2 ||
If only conclusion III follows / 37X Sadl =p8 3 F2i® 2 |

If only conclusion I follows / 37T ®dd =Y 1 T2 2 |

If only conclusion III follows / 37TY Sddl %pS 3 Aold 2 |

In a code, the word ‘LIGHT" is written as ITFHKW’. How will vou write
‘RAINBOW" in the given code?

T $IS $ AR, = LIGHT & IFHKW fomam wiar 2| 551 &ls &
FOR, ‘RAINBOW™ &% )]

UXKOERW
UCKMYLW

OCFMELZ
OXFOERZ

OXFOERZ

Choose the wrong term of the series?

7.19.37. 61,91, 126, 169
B s | TEw T o = Ty

7.19,37, 61,921, 126, 169

126
61
3T

1
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The Indian tennis ace who clinched his maiden Grand Slam title by winning
French Open mixed doubles 2018 with Canada’s Gabriela Dabrowskiis is

daE 29 & 99 I faael &1 9 9y s e 12 s =i
faaw w9 av9 fBfE goa 2018 5 weT @1 Afdver sET @ A
forerepe SET?

Yuki Bhambri / 1 Aa1
Rohan Bopanna / &9 F9=1

Leander Peas / Tol0et OF
Somdev Devvaraman / HFcd Sdadd-

[ T 3 7 e ™

Rohan Bopanna / ¥4 M4~

Food cans are coated with tin and not with zinc because

e TSt & e $ fog fo7 @ fo= 90 o € 9 5 foie & wifs

zinc is less reactive than tin/ T &7 =T JUem %9 giathar Hvar 2|

zinc is more reactive than tin / T 1 &1 30T 318 YialHaT Sl ¢ |
zinc has a higher melting point tﬂa.n tin/ o1& @1 &9 31 e A EIET REEIED
El

zinc is costlier than tin / 5% &1 $HT &9 F =g=1 2

zinc is more reactive than tin / T &9 ] TUETT JEd Toizpdl H4l & |

Which of the following personalities inspired the 'Green Revolution in India'?

Treforan 2Raal § © foee WNa o 2R SHifa oI #Ra fear?

| M.S. Swaminathan / T9. TF. @EARA
Gurcharan Singh Kalkat / TR0 42 Solde
Zevaur Khan / SEN m

Krishna Srinath / =1 3R

M.S. Swaminathan / T9. T9. @FHRHA
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is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which among the following is similar in meaning to the word ‘chaos’ as used in the passage?

[Question ID = 31161]

1. Uncertainty 04100 1D = 64636]
o, Jumble |o0ion 1D = 64638]

5 Disorder 00 ip = capa7
4. Indecision [opion 1D = 64639]

Correct Answer :-

. Disorder |0, 1D = 64637

92) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which among the following is similar in meaning to the word ‘anxious’ as used in the passage?

[Question ID = 31160]

1.| EdgY  [option ID = 64632]
2. Afraid [Option ID = 64633]
3.| Worried [option ID = 64635]
" Frettins

e LTSN LWL
[UPLtOIT 1D — O TooT]
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Correct Answer :-
. | Womied [option ID = 64635]

93) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which among the following best explains why rural areas and villagers were worst affected?

[Question ID = 31159]

The bankin, tem’ etration is poor.
1.| c £ System s benelation 15 PO [option ID = 64629]

5 ATMs lines were longer than expected.

- They don’tunderstand English. (1 .o

4 | The communication with the citizens residing in rural areas was not clear.

[Option ID = 64631]

[Option ID = 64630]

Correct Answer :-

| The banking system’s penetration is poor.

[Option ID = 64629]

94) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
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Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system'’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which among the following is opposite in meaning to the word ‘transition’as used in the passage?

[Question ID = 31163]

1 Crunch 6000010 = 64646
2. Shift  [option 1D = 64645]

3. Twist [Option ID = 64647]

4 Development .15 - 64644]

Correct Answer :-

95) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which among the following is opposite in meaning to the word ‘ease’ as used in the passage?

[Question ID = 31162]

1, Hieaup o400 1D = 64643]

o Hardship o0
3. Mess  [option ID = 64641]

4. Palmn o500 1D = 64640

Correct Answer :-
Hardship (0 15 = 64642]
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The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Why do you think that after the Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain was
unavoidable?

[Question ID = 31157]

1. Both ) and (3)  [option 1D = 64623]
Because of this surgical strike, ATMs queues were getting longer with each

>, passing day. [Option ID = 64622]
Because this surgical strike would reduce some part of black wealth to zero.

3= — — e = [Option ID = 64620]
Because of this surgical strike, the overall level of consumption has fallen down

4. ~even with the white money. [Option ID = 64621]

Correct Answer :-

. Both(@and (3) [option 1D = 64623]

97) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.
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Replacement process requires planning of the highest order and careful

implementation.
It takes more than 50 days to replace demonitised notes.
Demonetisation is a “futile exercise’ to target black money and fake currency.

The govemment was lazy enough to issue the decision of demonetisation.

before.

Replacement process requires planning of the highest order and -careful

implementation.

To lower cash circulation in the country which is directly related to cormuption

in our country.
To tackle black money in the economy.

It is a push towards a cashless economy.

It is PM’s stint to win forthcoming elections.

To tackle black money in the economy.
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The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which one of the following is an inevitable consequence of the decision to demonetize notes of Rs 500 and Rs 1,000?

[Question ID = 31158]

1.
The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days.
[Option ID = 64627] _
ATMs are running out of cash quickly while banks are dispensing more of the
5 Rs. 2,000 notes than those of lower denominations. [Option ID = 64624]
Banks realised the ATMs would not be able to dispense the new notes.
3. [Option ID = 64626]
The cash crunch of the last few days has an adverse impact on consumption
4, Spendimg [Option ID = 64625]

Correct Answer :-

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last fiwve days.
[Option ID = 64627]

100) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets

and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are

people in rural areas and villages where cash is klw and t}I.E m tem'’s penetratlon is poor. The decision to relax cash-holding
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Configuring ATMs to dispense new currency.

Announcing the government openly regarding its intention to introduce the new
currency Rs 2,000 into the economy.
Increasing the number of mobiles, micro ATMSs especially in rural areas.

Introducing lower denomination (Rs 500) note before or along with issuing a
higher denomination (Rs 2000) for exchange.

Introducing lower denomination {(Rs 300) note before or along with issuing a
higher denomination (Rs 2000) for exchange.
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